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Solve the equation x* —24/3x~9=0 , giving your answers in the form a+/3 , where a < Q.
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2.) A cone has a radius r cm and a vertical height /2 cm.
If the slant height / = 15 cm, and using Pythagoras’
thcorem, Bx i~ QI pat

(i) cxpress /2 in terms of r.
(ii)) Hence find the value of # when r = Scm.
(iii) At what value of 2 will the radius » be equal
to half the slant height /?
Give your answer correct to the nearest cm.
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3) Ifx2 - px + 1 isafactorof ax3 + bx + c, provethat
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4.) Write ¢ in terms of the other variables in each of the following.
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5.) Factorise the following: Dy -1 (ii) 1000a3 - 343b3
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6.) Factorise the following:
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(iii) ax + by + ay + bx
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(iv) az + b2 - 2ab
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7.)  Simplify: (i) 8x3+27 (220 + 32 _ (2 x +2)(4x*= 62+ Q)
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(i) The area of arectangle can be expressed as 2x2 + 3x - 20.The length of the rectangle

is X + 4. Find the breadth of the rectangle in terms of x:

% = 22 +3x —20 = (21—57)(7L;V43 * 2x-5
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(if) This rectangle is used as a base for a rectangular box. The volume of the box can be
expressedas 6x3 + 7x2 - 63x + 20. Find the height of the box in terms of x:
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9.) The future value of €P, invested for 3 years at i %, is given by the formula :

p(1 g i Ex 6 ®Y
A= P GG L
(i) Find, i interms of P and A.
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(if) If€2500 invested 3 years ago has a present value of €2650, find the rate of interest correct
to one decimal place: Ex 1'6 ®%
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